Doubleflex
Stadium

Verlegeplan: Lagerholz und Doppelschwingtrager
Plan for installation: Rigid support and Double swing beam

+- 250+ 500 + 500 + 500 + 500 + 500 + 500 + 500 + 500 +
| I ] I | [ [ | |
I P B 1 | | | | |
Wand/ wall / ] | / / | |
oo o ;
(Tal
=== = - -t — | — - e - - — b — - S - — - = - e —dat - 1L holz bestehend Rigid t isti f:
S L B g b e e e e s b o b by Canmisting O
~ ) . . ‘L Luger‘hutzz’ ngld support’ y ! & : verschraubt mit Holzbauschraube/ screwed together 4,2 x 35mm
q | ; | [ “Holzbguschraube/ Screw: &,2x35mm - | | e | VersatzmaB/ overlapping part: 200mm
- fo——f ————f—— — & ——f—1—++-
& ' =500 ——I  Doppelschwingtriiger/ Double swing beam : . o| )
o | | I | " | I i jel |
2 : ! ! . 4000 —+ + 2
ST N — t@l__'t___é__.H__I__._.__i_._l___._.__ql__,_‘l_.l____l___ _l__
[ I | : ' ' | I |
3 . - Doppelschwingtrdger/ Double swing beam . ! S ; ; " .
i Holzbauschraube/ Screw: 4,2x35mm | | | | | T | Doppelschwingtrégerverbindung
o ok s .
= G R — - - - — - — = — s - — - — Pl — - = s S e i #_. Fixing for Double swing beam
T T T T T T 3
§ ' ' ' ' . ' ;——;
| | | l | | | :
= i i ' i i CID o
=1 - @Stlw 4_250:{ e EE 3 . L potzbacschrantens ‘Sceaws4;2435m
& — 500 — i i . . . i
2 | | | | | | | I
L F‘250-+-—_l_ 500 _—l... 3 i3 k) s i3 A
= =— = M ——- - — - — - — - — Jf—-— -} — - — = — - —
5 i nd . I T b 2 b e o b o - M 2
I
Verlegebeginn an der Wand/ Start of the installation at the wall ~ M: 1:10
7 . : 7 ; :
7 Doppelschwingtrager Nr./ Double swing beam No : 1 Doppelschwingtrager Nr./ Double swing beam No: 2, 3,4, 5,6, ...

o - 250— :

4
% '——250 —i— 500 4[ /—_,.. | I
7

// 25%'9 lww‘;k N R R R R R R R R R AT | R g bummigronulatpad/ Rubber pad
wl \—Eummigrunumend/ Rubber pat J Sperrholzplittchen/ Plywood = 97x97x bmm
—— Holzklotz/ Wooden block, Dicke: 10mm

Sperrholzplitichen/ Plywood & 97x50x4mm

— Holzklotz/ Ausgleich, Dickes 30mm
Wooden block/Equolizing, Thickness: 30mm

boensport.com



Doubleflex Verlegeplan: Blindboden

Stadium Plan for Installation: Counter floor
Wand/ wall
213
-_--_~-_~-—--_--—~-_--_# Blindboden : Einteilungslehre
Tk A A i R A SEEN o Counter floor: Distribution of the gauge
1A A 0 0 1 1 T i it
I = o 1 O G 1 I and/ wall
B Hol zbauschraube/ Screw: 4, 2x35mm /22.;-._—._—

el 7

i
|
N
-
T
|I|
T
1
‘O :I
|||
| |
T
==
=
<]

97

+ 500
|
h
—
! I
47
|

1000

Leisten beidseitig aufgeschraubt/
Wooden ledge screwed on both sides

ug% _/ Blindboden/ Counter floor= 97mm
2 1 O O L e I
\\

2x Nagel/ Nails: 2,2x32mm

4
T
|
foi
1
-
T
T
1
T
I
1000
1
I

Bei 1.Brettreihe, Blindboden auf jedem

- Doppelschwingtrdger 1x verschrauben/
I LA %% | oy 2 E0E A | g m . H..— The first row of the counter floor are fixed
/ """ ot A s 1 o O Y ! with one screw on each double swing beam.
il 137% 3 . —2— BOEN Sportparkett Ldnge/ Length of BOEN Sports parquet: 2200mm
i — 7= Blindbodenversatz/ Measure of displacing: 1000mm

boensport.com

= l Olq



Doubleflex
Stadium

BOEN

SPORT

Verlegeplan: Sportparkett
Plan for installation :Sports parquet M: 1:20

7 Wand/ Wall /
NI p A p : a p I p n T p
Holzbouschroube/ Screw: 4,2x35mm [ 2200
|

15

e

b
~
~
L=1]
=
-

T112(13[[4(5]|6]|7||8]|9[[M0][11|[12| [13| [14] [15] [16 18| [19] 20 [21] 22 23| R4| R5| [26{ [27] [28] [29 B0| B1] 132 [33

15
12 | L] I~ |1

5
it PE-Folie/ PE- foil 0,05 mm

Verlegeplan: Sportparkett

Plan for installation: Sports parquet
M: 1:10

2200

o A e e e T IS T e
4 -—El-—mJ -EI-

Klammern/ Clips: M17x36mm

215

boensport.com



